IR EZA KR iEER X LR B
Always read through this manual before operation.

- ;x;' 18 EERTEER | 8L LER AR XL RICLEER
j : Only for 18 years

of age oroider | Operation of this air gun for compefition use s restricted to users of 18years of age or older.

: c’/y SEREHL [ 788 M AT 5060 X BH AN NS TR THSHRESREILTEE.

~ Injury caution | Since plastic BB bullets reach soto 60 meters, careless shooting may cause eye damage or other injuries.

Careful reading of

Handling ¢;ugﬁn; Always read through this HANDLING CAUTIONS AND INSTRUCTION MAMUAL carefully before operation,

: .' EEMERESETTM | £REZHERCERESTFANETEREAARE B AUAFEEET

.ﬁslrggﬁﬂn'm,““a, Operate the air gun with full recognition of warnings and cautions,




WARNING

=

Always wear eye protective gear. e, SIE8RFEE {%E R,

When shooting the air gun for a target or game,
you and all participants must wear goggles or
other eye protective gear,also paying attention
| toricochets.(Pay sufficient attention also to
third personnel other than participants.)

SEAARNEERAERR RUFEFNSREALFAHUENERTAATRARERE,
RERIEFENERIE, (MEERFIIBTEFEBERILUINE=SE, )
- You may be punished if you are shooting for a practical joke.
MRAAEEHERTR, JHEZTETH,

You may be punished if you damage public or personal
properties or injure a person or animal even if you are
shooting for a practical joke.Always observe manners
and enjoy healthy sport shooting.

A\ e/ WY ()] WRGEEARUORAANRERSEEARDY,
LY\ B : L EERFE , M ERIES,
;¢x~;ﬁmw§ﬁﬁ@%ﬂﬁﬁﬁﬁa

Ao j:: :é—l}z
T PR = 2 L
L

factured under consideration of
Wiance and operability.Disassembling
e SEinay generate danger or adversely
190,avold dissembling or

e T

' BRI ETSE Y, RER
BTN R S Fﬁi%‘iﬁﬁﬁ{’ﬁ @lﬁt%ﬁﬁ

FERABEZR
Never look into the gun muzzle. Never shoot at any human or animal.
SFEEERRO, REHZEAEHY

Do not look directly into the muzzle Never aim or shoot a person or animal as the target.
to avoid accidental discharge of BB. Always attach the protective plug to the muzzle.
xgﬁ%ﬁ@gﬂfgg ﬁﬁggg“ AT RAXNBVEFEEEHEIHE,

-'"l..-‘- ﬁl\%

B Make sure to operate an air gun after recognizing its feaatures.

B We are notresponsible for any accidents,events,injuries or repair costs arising from wrong
ﬂpcratiﬂn and handling or by modification and disassembly of the gun.

B ERRETRESRZEBERZONUE,

[ i«T:FE‘TTEEﬁﬁﬁ?%’f’ﬁiﬁ%ﬁfﬁﬁﬂst%ﬁﬁ@lﬁﬁﬁ%%ﬁ REENH, SHEHAEEEB,
HEPSErasEE,




THOROUGHLY UNDERSTAND THE WARNINGS AND CAUTIONS
FOR SAFE OPERATION.

A EENRBE R EFENEIE, TR ENERERER,

Read through this manual befure shooting paying special attention for safe operation.
EFEHA, FHARELAFTAEAS, NMERENERELXER,

Always observe warnings and cautions strictly.Failing to do so may cause in jury,
accidents,or damage to the gun.

EBRETFAERINESRIEEE, CHRERBEARBINES

1 Charging the battery(Battery and charger sold separately.)
BEHhAxES (BEHLNAESRFTEBRBLE )

4 N
® Use the specified battery for the gun.8.4V,1100mAh Use Eﬁiﬁfﬁ:fhﬁtcn

Hyper Command Mini Battery Hyper Command Mini )
Battery. Avoid use of non-standard or other brand name %ﬁu =0 )
batteries.Otherwise,the originally designed functions
will not be obtained. - ;ft;’f’f’fgi Battery
FREXIEHTH, 84K, 1100BRNEi, g
I—Iyper Command
BFERARTHAEEEFEMILIENE,
& Bl AFE AR et EK. e :

Exclusive Charge for Mini Battery

NERERANTESR

/

le'to'the above battery.The charger

(Sold separately) S<
1 S X R S
® [se the correct battery and char,

not be held responsible for any accidents or damage carsed by wrungful operation or rsage
of non-specified batteries.

BEREEAFMEARENSBNEESE, URAFRRI VS EEIXEERESHE
NEBEEMSIENERGEGE, RESAEEMTEE

THE NAME OF THE PARTS(For details,see the following pages.)
g el ( ARELRBRTE)

Selector lever(switch)

' Upper wood
R { E
Gunbody cover(Battery Case) EIRERFT (A0 /_;‘ LN
MEE (BHE) o | e 5
e L) 2
T —————h I =
e s 0 | .
_ cuckmg lever
Rear Sling Hook ' -.

Underside wood

BHTH T® A
Grip Magazine safety Magazine
EF EERH % =




Front sight Rear target sight Side rail
lencer 7Y EHZEsE BREE

| mil=e
|

TLE

1

1

R 48

s —
=

Front Sling Hook
BEEH

MBIt/ S0
: Gunsto
Silencer ~ Frontsight . s '
= g Rigger loop 5 4T ok 2547
A - Gunsto big

CM.031D ck lockpin
Front Sight Adjustment Tool &&=
BTEEEET R Cleaningrod F# S

/ - Folding Stock

Selector lever and safety setting
REEHNTNREERE

o To prevent malfunction of the switch do not change the selector
lever from semi to full auto while pulling the trigger.
@§é?%ai§j__ BRERBEE SR, ERERE, TESREOHTHEY

SEXEEEH,
Rl Sct the selector lever correctly in position otherwise,
| ViAY - 1-1-* . B _.._-'; ‘ :-l_.ll R T {_-:”: l:'u-r
\ RO S IR B () T, DRI e RENE,
@ Safety setting(the trigg€r cannot be Licday i % { T RER T 3R 42 )
When you are not firing thé'gén or d i r Ways sct the

selector to the safe position.

® Fully automatic(automatie
289 (HEE) _
The gun will fire
automatically
while the trigger
remains pulled.

:}EE ﬂi % I i —a—— ey % EH; ;jK g*ﬁ :
. | - RIEAF B —
SRR aTsE, \ AV ST era

4 Setting the Battery(Set the battery after charging)
REBL (BREREEEDLER)

> 0 Ire one
shot each time the
trigger is pulled.

? Remove the receiver from its ® Connect the battery to the cord that is
rear while pressing the receiver accessible from the hole under the rear
top catch button. sight. Press in the battery with its |
RTHEZEEGNES, protrusion facing to the left. AN N

EHREREE

EERAETEFE, T B E A R e fL e

9%, SmEbsam O
MEBEREET.

The protrusion
must be on

the left

side. e
REBHKE N
BETELSE

. . —
Connector nail

e




® Reinstall the receiver top in the reverse order of
removal procedure in step(1).Align the lead edge
of receiver top to the groove under the rear of
receiver top,aligning to the groove shown below.
RERINHNESERFNERIEFEHRER
5%, REENENEEERY, BREEEE,

U When receiver top is set correctly,the catch
=L button ejects out.

ERAENE, RTIESERTEIER,

SETTING THE MAGAZINE REEE ke
® Open the cover of the magazine @ Insert 6mm BB bullets into the loader B\ ‘
ITRAEERE (500 bullets can be loaded) '
F6mm BBE = NEE
(=N ] ( BT 85 A500%BBE )

® Set the magazine upward.
Install the magazine as 1llustration.

KEARERE, IUBETEMTITERRER,

® Replace the magazine = Ty ]
%_t g@@% - . : =g :._ gAY u____ T— (- TP

1.First set the front.
BRAERA

2 .Press to the rear.
@) 18 1%

£ Ver towards the trigger to lock.

L=y

e Ao

im =
i N S
L A - o
AR A

® Move the gear with hand clock ST Magazine stopper relief rib.
until it is fully wound,and the bullets ki
will be sent up automatically. i e \?\ é>
(It can send about 150 rounds = l

automatically.) S .

RIES st A mxE Fs, EF w8,
FHEHME B HELX,
( BE B IxIFAI150% )

CAUTION

Slide the rib in the arrow direction

to remove remaining BB bullets.

(Be careful since BB bullets may

jump out.)

R A OB B S R L #4288
T, (/UBBFHRTHEESH

\

AR

The magazine is capable of Containing 500 BB bullets.
58 [E o] 55003 BB,

-

LAl @ Always use the BB bullets for the air gun. We shall not be held respomsible for any
LR damage or accidents arising from the use of bullets suppled by other manufacturers.

EEAEHEEHEENGMMBBE, NRFHEMAEEREN T EmSIENES
NEY, RAFARERRE,

O 0 O

L




m Moveable Parts
EHNEH

CAUTION

FANES |
Be careful so that your skin and
fingers do not get caught in the
folding parts.
INCIRAFENEBAEHITS
59 ZB 7+ 5 E o

Press the gun stock release button(l), move forward the gun stock

ETERAZEROAERARTUERFTE AFBITTE

INSTALLATION OF THE ELIMINATE BLAZE IMPLEMEN

B MG 28 B 22 5

@ While pressing the
lock button.

BETHESE
© IEEE R B g8
= Revolve Silencer
bla ¢ implement is fixed by
@s in the case of real gun

CRlEEE AR mEEEN,

Variable hop-up adjustme?t lever
DIE-3 A4:007 3 Bk 3 )

IO

F I8

5815 23 % T A b SR e A ~

‘ tl so asnottoloose the
B DIEAE, adjustment tool.

ARAEERABELIR,
Counterclockwise: Clockwise:

lower sight point higher sight point

U
g B S+ 75 19 6{/{; WS 5 o
g

P& 1I% B %5 B 5 = g S

® The cockinglever can be moved.

NFEIHHH

® Variable hop—up adjustmentlever
o] 8 11 69 Bk 52 38 2 AT



&7

REAR SIGHT ADJUSTMENTS
REEER A
Rear sight Sight f 1
12 B ZE 38 i 22 25 8|,
Long distance .;E;, g
1= 26 B 2|5
i
—_— .
o Elevation (up/down)
Shortdistance adjustment button
it 6 B

The 031 series rear sight is a tangent type which is adjusted vertically
according to distance to the target.

0B1IRFIAMENERBTHHBINED, cE2REEENEREE
HEARHREN,

Press the adjust button and slide it forward or backward to move the
sight up or down. The larger the number, the longer the distance to

the target. v - -3 .
1 T 39 % % 47 ra 0 Sile) PR MIDEREER =7 , %7 i K, 5 B B AR

ﬁ i‘En _.-“f

W/E. E J.L‘

T
rg ‘,4»*1 ﬁ
AN _—

—__—
= —

UIVERSO SN
NIRSOFT

G
-

L

™,

Firing(Confirm

@ Set the selector lever to Semi or Full Auto.

 HERHNLEEE AT B AR E - @ Pull the trigger

71T IR

=) o
-—y J"I.ﬂ:

s/ A=A

fehefore beginning firing.)

E—2

A blank firing may occur ar triggering after the magazine,this is the normal operation of the gun.

SEMRKRLTFERAGHERS, THESEZaNSFE, EEBTHENEENER,




CAUTIONS ON MOTOR AND BATTRY BT ERATEEER

® Charge the battery ifthﬂ firi:n.g cycle becomes slow.
ﬁ%%ﬁﬁ‘%iﬂ 1 Elﬁ D

® Give the air gun a rest for 5 to 10 minutes after firing about 500 rounds,in order to ensure long
service lives of the motor and battery.

RYTERBIRNBHAST o, EHES008E, LRBS-100FANB K,

WHEN BULLETS ARE CLOGGED S FEPEZER, BRIBIEE

® Ifbullets are clogged,remove them and apply a few drops of silicone oil in to the chamber
from the magazine entrances shown or spray silicone oil for 0.5 or 1 sec,to obtain smooth
continuous.

BRFEEE, LFERER, RTMUBRIEFNSE, ERFEENADEFLESBL
iﬂﬁtﬁ'ﬁﬂ‘ﬁﬂ |

AFTER OPERATION FRZ#E

® Remove the magazine and dry fire the gun in the semi auto mode directing the muzzle to a safe
direction.(Otherwise the spring may be weakened},Set the selector to the Safe position.
LFEERY, X85 EﬁﬁﬁT ?E?lﬁ s = B 5 5 B

(&R, BEBMTES ?El% Ses R el P(safe)iE — 1,

@ Bullets may remain in thek n er evién | oamme contains
no bullets (or if the magazine i§not co or
bullets may drop from the mag ne,thig@aswhi
of the gun.)
fiEEgRxBFE,
FEDITRESBENES

® Always disconnect the be
whenever you do not oper:

R 0 AR 05, 4 A

Alway attach the protective cap during stﬂrag.

ﬁﬁﬁﬁﬂﬁ%'xi

: and tach:

CAUTION

AN ER

® There are possible cases that no firing occurs sfter pulling the trigger in the

~ semi-atuo mode.In this case,do not pull the trigger furiously.Fire 5 to 6 shots
in the full auto mode and then return to the semi auto operation.
EFXEPNARET, BoURRREREZE, TEISEHHEK, B EEER,
ABFZIMRERE, EE8FHNRET, FB5H6H, REBHIEEHH
ARET %ﬁzﬁta '

© Smell may be generated from motor for a wile when a new air gun is operated.

This is the normal operation of the gun.

ﬁﬁﬁ%%m%ﬁm;ﬂ%%ﬁ-%%ﬁuﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁiﬂs
EEEABFTFEERZR,
® The hopping up operation may be unstable for 200 to 300 rounds ﬂfter using
silicone oil,this is the normal operation of the gun.

ERABEBHCE, EXNF200F30BTEFAARE, EEBEABTEERSR,




El TROUBLE CLINIC(TROUBLE SHOOTING)
=2 B ( 1 Z A5 R T?’“_‘Sﬂﬁ)
SYMPTOM%H:&: | CAUSEEE |  ACTION 5%

Select DI‘ 1s set to safety. Set the selector lever to Semi or

1%?% ) FFARAAERE| FullAuto 33248 (2 ) FBEAE

E— #{Mﬁw} FEHOREEHE
Battery i1s not charged. Charger the battery
BELXERE CEBEHLRE
Battery connector is
disconnected. Enn‘._n\n;ctjhe EREHerro
= 5 - B E R
& ot 1 $E 25 5 ET 7S
The + and - orbattery | Connect the connector correctly
No operation at all ‘;S?“E““r i (check the fuse)
% 1 o (ERERES | rpwpess (#EREE)
Fuse is blown out Relace the fuse(See page )
R bR E R R EFHREERE (RE128 )
Expired motor life(50. Reslaceth ¢ bk
000 to 60000 munds) cplace the motor(purchasing

from your dealer or us)or check
and repair the contacts

EEFENEH (THESETS
NN T ), AEFARS
| akcEiilepes 3 ok

m‘ poor E:le-::trlc

M sert the charging rod into the
Wilacazine and move up and down
1 few ;imes to remove clogged

., Bullletsa
lnth magd AN Aa

bullets —
| TR ‘*”“ﬁﬁ%E,LT@E
Althuu'gh l;mltlm; s | o . £ HENTFER
removing,bullets jump _
?lft' g5t sien Bletts are clogged in the EZH;EEEIE?EEES bylletsiusing
EFAREIAR) . B (%) AHEEAEH
ETAREERRY. |saEss (wimx| T 2 " ‘
Purchase the replacement gear
Faulty gear from your dealer and repair
LR FAEEERENNEREEST
. 2
Impossible full-auto Insufficient batter}f Charge the battery
operation.(Automatic power B EE N2 CEBMLREE
firing)

Faulty bullet feed of magazine| Repair clogging the magazine

RER ( FERZEND )| sanpnFass EEESENEREY

Poor electrical Consult your dealer or us for
Impossible senil-anto connection overhaul maintenance or repair
operation.(Singe shot) BEEEEAY o) &€ SH R A s W T B
NEEE % - o o Set to semi auto firing Sto 6
1?}3_‘";}3“0“ In gear timing | r4unds in full auto T £ EHE—
B i ) 2 s Bk 1 5 BESHI6OR 1% S B 2 BB A




Use of poor quality BB bullets will cause problems.Never disassemble or modify the gun

MERAREENBBERHRRE, FEHFDIEBIE X,

~ SYMPTOM # #k CAUSE R & ACTION 7 &
Impossible semi-auto Insufficient battery ,
operation.(Single out) power. g]g% %%attm Y
Al ale z = = = = = m 4
e B BB1E BHMBEBETR
"Automatic firing become Insufficient battery ChiEE e At

shorter.

BEHHNEZR

power.

EHEEFE

Shooting distance
become shorter

FENEER

Worn or damaged
chamber packing

(%8 ) BEVMHRATRET

Worn or damaged
chamber packing.(O-ring)
EEMS (OFE )

Consult your dealer or us for
overhaul maintenance or repair.
Replace the chamber packing.
Piston packing(O-ring)and piston
assembly.

KENET CEEFmSHUTEE, EFN
Deteriorated pis —| BLEEMR, FEMH
cemm i | (OME ) mEEARE .
Faulty BB bullets.

(Too small or heavy)

Use the genuine BB bullet
EREESIKNBBE

BBFHEAEHE ( AVNFAE)

LA Purchase the replacement gear
- from your dealer and repair
| L BEERREETNEREETER
Gear i ' :
too mamy blank firin
worn orla g e
A & a8
| ‘ N 1sult yourdealer or us for
S jaul mamtenance,part
[ acement(gear etc)or repaie
Too loud operating noese | too many blank firin o] 4% 85 & 5 8 W T 4 12
L 5= NN x%%faaﬁi_ﬁa%i% WM (HBE)
5 B 3R ) A
Worn or damaged
chamber packing
(#8) EMHARERRT
Bullets being follen :
out from hargrel end. No hop setting iﬁg:&;@g CIuAteRlever
Faulty BB bullets.

(Too small)
BBTFERESHE ( K/

Use the genuine BB bullet
FRAESHEHBBE

Being wet or drop into
water.(rain)
MEXFRAFEKRE

( FoH )

Stop operation immediately,disconnect the battery,wipe
off water from water from inside themain body and the

battery,and after complete dry,carry out trial firing,if no
operation or malfunction is detected,consult your dealer

or us for repair.

VZIFIEER, BFESH, LERNEXATANEE
BHER, FRIXZTEHRTZE, BEAFE, R
BEEAERAIEFBRREE, 9EEHARMEAIUTERE,




) VARIABLE HOP UPSYSTEM o & {¢ #Hop Up & %

By producing a back-spin to the BB bullets,this system allows for straighter and longer distance
shooting than normal air gun.Unlike the fixed type,the variable hop up system permits one-touch
adjustments using the dial and lever,making it an ideal hop up system. -
BERFHEEN, JUEHNBL-—RURESICFENTE, TMEt0ETEENE
— 8, T8N Hop UpERKRITUF B BB GIFREFTHE, ' '
> Adjustment Procedure(Adjust by carry out trial firing)

HHEF (BAAFNBRESTHAG )

Do ™\

A : 1
S Mjmm? Graduall turn the adjustment dial towards Hop to

L

give hop up to bullets.(The best setting is where

30 8 A

NORMAL bullets ﬂ}*’ hﬂriznntally.)
i%//'if CHEREEBORE I, (SHESBEFE
N K J7 1 5 )

M A

® Turning excessively adversely affects the trajectory.So stop turning the hop adjustment lever
when bullets fly horizontally.
ggﬁﬂ’ﬂﬁﬁﬂlﬁj} NASUREFEINEN, Bit, WRFBEBKESH, e mm
® The best position is where the bullets fly horizontally,and the longest flying distance is obtained.
RENNVERFEKESFGHE, KR EFFEEINEEHE,
Too much hop-up(return the lever towards NORMAL) '
BELRE (HAGITREDEXRLTE) XO

Best position w
wEME N

LFRERFEA ﬂ%%ﬁ‘ﬁ’ﬁﬂﬂ%ﬁlﬂEﬁﬁﬁ )

OPERATIONAL CAUTION, j
(strictly obserserve the followifisscautio n)

ﬁﬁﬁﬁﬁﬁ:(%ﬁﬁﬁ?ﬁ#““'

0 e - \
- 7 ™ - r = . vl & :: 4 In
e g ¥ . " 1 e
| N il ¥ ——— "J

s e N >,

® Moving the lever too much towards HOP causes bullets to clog.Firing the gun with clogged
bullets damages the piston and gears.
ANTBAERAARETOEERFERE, TEEENE A THE BTG HBHISE,

® Ifbullet clogging occurs,immediately stop firing the gun,return the hop lever to the Normal
positiong and remove clogged bullets using the cleaning rod.
MRFEER, FUNEL, EUBIBAEEENE, BESBERNMEEFE,

® Make sure to return the hop adjustment lever to the Normal position when removing clogged
bullets or cleaning.(Otherwise,the chamber packing is damaged.)
{EHEE\EE??%H#&@%%%H%, ZILHOPABMAAT EENME (Normal) ( BEIT &S
HE ) L |

® Never use used or dirty bullets.(Otherwise,the chamber becomes dirty,resulting in unstable
hopping up.) .
AEERERATFHERACHARTE, (THERSSE, ¢ HIXUBOHIBR)

® When about 10000 rounds are fired,spray silicone oil tinto the chamber for 0.5 to 1 dec.(See 11
on page 8.The hopping up operation may be unstable for 200 to 300 rounds after spraying the
silicone oil,this is the normal operation of the gun.)
a1 B RAI100000 758, FAEH B E0.5-1%), ( EEEHTE, 200-300% 5 B KIRIRHE
EARE, EEBARTERER, )

® We will not be held responsible for any damage or accidents arising from wrongful operation,
disassembly and modification of the gun.Any costs for repait of such damage shall be paid by
the user..
BTERRE, BARKARNEREMIIENEBRAETIN, RA—EFTESE, AtEED
EREBERAOBPF BTERE,

—1 (=



CAUTION

AR

e If the hop-up is adjusted excessively causing clogging of bullets,immediately stop operating
the gun.Return the lever to Normal,fire 2 or 3 shots and readjust.

1E:ﬁﬂhnpup:ﬂﬁj‘ﬂﬁﬂ%?"'ﬁ‘ﬁ‘#ﬁ??éﬂﬂﬂ% BIEEER, TWELER, LBAG
#EES HFHB(Normal)A BT, FTEE2F|3%E, REEBBHHFHA R,

® Since a precision tight barrel 1s used,use of dirty bullets or those with burrs causes clogging
of bullets and possible fatal damage to the mechanical box and system.

HTHEEEEREE, ﬁﬂ%‘ff]ﬂﬁé’ﬁ’r%ﬁ_fﬁuEﬁﬁﬁiﬁﬂﬂ%ﬁfﬁﬁ

WARNING

ARE

® Never hold the gun side ways sa the BB bullets will curve tight or left.

This 1s due to the HOP-UP system.

FEHRBTRESTEFHYE, ASBBFESHUBTESRA

HEFRE

HEAEFTRR

WHEN HOPPING UP IS IMPROPER

B IR ERHE 3,

fﬁ%y@

SYMPTOM #it#k | C

ACTION 7 3%

(EFHRERTHR)

Bullets flying upwards. F00 MU
+ 38 [0 + (hop):
Too much%op settin
(hop)st E A X
Short flying distance : Fre
of bullets(less hopping { 810D D
up effect). |
FRFEXE pk=

Gradually return adjustment lever :

% towards Normal.

EREH T HE AR ETRE,

radually return adjustment lever
owards Normal.

5 E0 O B 58 B IE F R RE

cisequivalentto4 or 5
; or cheanthechamber
zaning rod.

(I8 H ) BB E RN,

Worn or damaged hop
packing

HopB £ X E S #HEE

Purchase the replacement part at your
dealer or from Marui and replace it.

mMEETARMESRTFENSH, &F
HhopE E, '

Cannot adjust

Damaged adjustment
lever or other parts

Purchase the replacement part at your
dealer and replace it.

FSREaN BEANEBBEER | IESBESFBRYE, S,
Tooauehles sottng Graduallﬁ returil adjustment lever
(hop)s& B * X tmfards ormal. _
IEREH T E W FE D ET AR RE,
Improper or too large :
Frequent bullets sized BB bullets %ﬂ;tgggé)%lats for Electric Gun.
clogging BBEASHHAKRT # 2
FE&FEHE
gt Clean using the cheaning rod or
Dirty hop packing consult your dealer for repair.
Hop& & F M B(XM) BERERNER

LB TEER,




" i N
[ ' Glass tube fuse FES

. MAINTENANCE CE You can buy it at a near-by

electric shop or gas station.
PRI EREN EE/ER
o Tl e
1.Fuse Replacement Procedure , BRIEHIE,
THRRE The insurance 20A Fuse common for
tube position electric gun series.

R EMNE wHTEDE ARSI 8920A
RRE . [H———1—
—— 1

- 4

4=1 methods of press the P3 £
open the gun body cover, then

can replace then already burned-out
insurance a tube

BPIANFEITHESZE,
REBITFRECERENREE

2.Remove the obstruct bullets

REERETE
@ Insert the cleaning rod into the bore. @ Be careful so that the angled
%?ﬁ“’é‘%ﬁ:ﬁ%ﬁ)\ i part of the cleaning rod :K @__——_——_)] L‘\
faces down.,and remove e
—1 clogged bullets. =
BEREESOA/ITAOT, rET
fx HEEEETFHE, /

| \

e Chamber packing
Jﬁ:@_ FEE

ot be ugeds ";% mn;-_r, the obstruct bullets.
= :,_'{‘_ ? —_||:'|n

BN returning the hop up lever to the

)
The UI‘IlﬂI’I'IL'Il
Make sure tod
Normal l}ﬂ"ijtl

[

o - E

- ,
e R Bk BE *E]lf = lcl) o, il ot o
3.Maintenance When B ' E CERELSBBRESEE

s N

N

_
-
3 -

umiveascj s:ma.-?e;a

S e Wind the cut
V. AH10mm l

Cut the cotton to the size shown.Adjust the length accordingly so that it can be inserted smoothl
into the barrel.

&N OB AT KN, BEMBAEBRE, METHREIEFNBBELEIEER,

Hold at the leading end of the rod and insert
the rod into the barrel while turnning the rod.

SWHFNEE, EEAFOREREEEA
® [nserting the rod will be difficult if you hold rod at the end.

RUWREEFESO R, 7 ﬁﬁ%ﬁﬁi_fﬁ%@fﬁﬁa
E— ” =
® Since the chamber is a precision

component,avoid use of used BB
bullets.

C BTFRBR—EERONE, HEe
Bullet entrance fgiiﬂl ﬁﬁﬁ .% 18 E!{]BB?E:.

FHEAD ® Always carry out maintenance AFTER returning the
ply a few drops of silicone or Teflon oil. hop up lever to the Normal position.(Hop-OFF)

Ap
A B 1 D ERFETBOTEMNER, THETEBRE.

CAUTION

MAER

Hop chamber packing
EHREEHR

D )




©® Drop a few drops of silicone oil or Teflon oil from the bullet entrance,insert BB bullets into
the magazine and fire bullets equivalent to 1 or 2 magazine.

KTBOADEBLE LB, EBBFELEEES, HEIH2K,

® To complete the cheaning.Use the clianing rod(with cotton)as shown below,to remove excess oil.

ﬁ%%ﬁ%ﬁ%ﬁmuTmﬁﬁﬁgﬁﬂﬁﬁﬁ

4. FINEADJUSTMENT OF GEAR ENGAGEMENT

B Un o I S 89 R
Remove the screw from the grip bottom.
CRCES S LT _ |
M3 hexagon wrench Only when the motor noise becomes high
M3XEBFHKF after operations for a long period of time,

conduct the fine adjustment as shown.
HEAFERR, SEELRANES
i, SRUBF~EEERETHHA,
Hold the grip during adjustment.Otherwise,the main body
will drop since the grip set screw 1s removed.

EREREERET, T8, TEeEREELEFHE
BT R T M= H K,

® Itisrecommended to lock the adjustment screw by a screw locking agent or instantaneous
adhesive after afjustment of the motor position is complete.

BRrEEENBESRERTNE, Eﬁﬁ%ﬂ@%%ﬁﬁﬁ%ﬁﬂﬁﬁﬁ%ﬁ%ﬂa
® Normally,do not attemptoadjust. ——

BE AN EBRERE. j“_. fﬁj-;h;
® Be careful as not to overlytighten thé (4 L¢ lamage the gun.

EETEﬁFﬁﬁE% u =kl

Insert M3 hexagon wrench into the
screw hole to adjust.

RM37NE R FEN
RERILIRAE,

CM.031D




UNIVERS! EnjipER
NIRSOFET




1.5ilencer
2.Front gun tip
1A.031D Silencer
2A.031D Front gun tip
3.Front sight
4.Silencer fix stalk
9.5pring (90.4x@3.9x16x12T)
6.M3%6 Screw
7.M3x5 CMHO

inner hexagon 2.5mm
8.02.5%16.5 shaft
9.Lead windpipe
10.Up gun guard cap
11.M3%3 Scren
12.Up gun guard
13.Up gun guard back cap
14.Down gun guard front cap
15.Down gun guard
16.Decoration
16A.031D Decoration
17.0ut gun barrel
17A.031D Out gun barrel
18.Left Hop up seat
19.Right Hop up seat
20.Up gun guard located nail
21.M3x5 KMHO
22.M3x14 PMHO
23.M3x8 PMHO
24.3pring (B0.4x@3 4x18x16T)
25.51aff guage panel
26.5taff guage
21.Staff guage release spring
28.5taff guage release
29.5pring (@0.4x@3,9x7 5%6T)
30.HOP-UP
31.Rubber selector
32.Selector
33.Gun barrel connect link
J4.Block
35.Nail
36.Hop-up cylinder rubber
37.M2.5x6 PWAHO d=@5.0
38.02.0x4 PWAHO d=@5.0
39.22.0x4 KBHO
40.Hop-up rubber
41.Inner barrel sleeve

1. B8 42 Inner barrel

2 .38 0 42A.031D Inner barrel

1A.031D BB & 43.Cocking laver

2A. 031D HE 44.5pring (90.45x@0.45x139x54T)

WS 45.Spring located slice

4 EBFETE 46.Gun body cover release

0.FF 00.4x@3.9x16x12T 47 .Gun body cover

6.M3x6 #Ah 48.Gun barrel connect link

7.M3x5 CMHO - 49 Main gear box
BHEEAA<E2.5mm 50.Fier selector

8.02.5x16 58It &Ht 51.0uter fire selecor

9EATE 52.M4x10 TMHO

10.LERFE 53.Fire selector ring

11.M3x3 & H 54.Fire selector coppy barrel

12.LEFR 55.Located slice

13.LERES 56.Gun body

14 TERWE 57.M3x8 KMHO

15. FEXK 58.Gunstock lockpin

16.E5858E& 59.Lockpin spring (©0.8x@0.4x16.4x10T)
16A.031D EfE 60.Side rail

17.85%% 61.M3x6 TMHO inner hexagon 2mm
17A.031D #E4hE 62.Riggerloop

18.E8RE 63.M3x8 PMHO

19. 58 E 64.Gun grip

20 L EARBLE 65.M4x=5 TMHO

66. Gunsmck
nstnck joint shaft

21.M3x%5 KMHO
22. Mﬁxﬁ FMHG

& CoOvVer
FE&r cover

313 :&
£ R A
32 1@ f
33 1B
34 119
35. % ES
6. A EFRE
37.M2.5x6 PWAHO d=05.0
38.02.0x4 PWAHO d=@5.0
39.32.0x4 KBHO
40.2MEE
MBEEE

78.Gear

79.Gear spring
B0.Magazine cover
81.Bullet block
82.5pring (D0.4x@3.9%7 .5)
83.92.6x10 PAHO

84 .Ballistic transition nail

Name '

CVI-O031C

CiVi-O31D

428 ME

42A.031D R E

3HEFE

44 B ©00.45%20.45%139%54T
45 FREK
b.E5EEES

4788 5%

48 EHETH

49 =45

S50.BREEER
S1.BENEENNE
52.M4x10 TMHO
NILBEFER TR
5S4 B HRBHREE
55. B Fi#

56.% %

57.M3x8 KMHO

58. 1L E 7

50.XBHNEZ 00.8x00.4x16.4x10T
60.8 &

61.M3x6 TMHO A~ &E2mm
6254 B

63.M3x8 PMHO

64.F 42

65.M4x5 TMHO

66.3 1

GTHEELES

68.% &

69.BE 5

TOERES

71.02x21.5 % &
72.092%251.5 4
73.5EE

T4 EH#ib

76 LsFE

16 EEE+EE+BEETR

1T.8maFs
78.E iR

19 XHIERE
80.EEE
81..F R
82.8 % 00.4x@3.9x7.5
83.02.6x10 PAHO

84 3050

B
= i | 715mm/945mm 605mm/835mm _
erall len .
Ovorilongih B (when stock is extended) (when stock is extended)
; 3280g Including battery 3260 Including batter
Waight B 8| 3580 wamim 3260 BewH
_MEQEEIHEGEDEEITF sme | 500 rounds 500%% 500 rounds 500%F

__Bullet + €| 6mmBB bullets 6mmBB# 6mmBB bullets 6mmBB3&
| 102m/sec (0.2g bullet) 102m/sec (0.2g bullet)

-ln tral b Ii t d & o ~

i ulletspeed i & 1023%/% (0.2g F ) 1025%/%) (0.2g F i)

Fu]l auto E&hﬁ 700 to 850 rounds/min 700 to 850 rounds/min
~shooting speed 700-8503%/4y 700-850%5 /4>

] &



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16

